Standards-based Assessment Bank
6th Grade Non-Fiction


Index to Questions
	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Type
	Description

	15
	OAT  Mar 06
	C
	RP 6.6
	Ella Fitzgerald
	Biography
	This multiple-choice question asks students to demonstrate comprehension by responding to a question that requires synthesizing information and making inferences.

	16
	OAT  Mar 06
	F
	AV 6.8
	Ella Fitzgerald
	Biography
	This multiple-choice question asks students to use multiple resources to enhance comprehension of text.

	17
	OAT  Mar 06
	D
	IT 6.6
	Ella Fitzgerald
	Biography
	This short-answer question asks students to identify an author’s argument or viewpoint and assess the adequacy and accuracy of details used to support the viewpoint.

	18
	OAT  Mar 06
	A
	AV 6.1
	Ella Fitzgerald
	Biography
	This multiple-choice question asks students to define the meaning of the word venues by using context clues.

	19
	OAT  Mar 06
	IT-F
	IT 6.4
	Ella Fitzgerald
	Biography
	This multiple-choice question asks students to identify the method of organization used by the author in the selection which requires students to draw conclusions about the topic.

	20
	OAT  Mar 06
	D
	IT 6.7
	Jump to It! 

&

Frogs Help This Family Stay Together

	Newspaper Article

Human Interest
	This multiple-choice question asks students to identify and understand an author’s purpose for writing.

	21
	OAT  Mar 06
	C
	IT 6.3
	Jump to It! 

&

Frogs Help This Family Stay Together

	Newspaper Article

Human Interest
	This extended-response question asks students to explain how main ideas connect to each other in different sections of the selection.

	22
	OAT  Mar 06
	D
	IT 6.7
	Jump to It! 

&

Frogs Help This Family Stay Together

	Newspaper Article

Human Interest
	This multiple-choice question asks students to identify and understand the author’s purpose for writing Selection 2.



	23
	OAT  Mar 06
	A
	RP 6.5
	Jump to It! 

&

Frogs Help This Family Stay Together

	Newspaper Article

Human Interest
	This multiple-choice question asks students to determine a purpose for reading and use a range of reading comprehension strategies to better understand text.

	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Type
	Description

	24
	OAT  Mar 06
	C, AV-A
	AV 6.1,     AV 6.3
	Jump to It! 

&

Frogs Help This Family Stay Together

	Newspaper Article

Human Interest
	This multiple-choice question asks students to understand the connotative and denotative meaning of the word wilted in the sentence.

	25
	OAT  Mar 06
	A
	IT 6.1
	Jump to It! 

&

Frogs Help This Family Stay Together

	Newspaper Article

Human Interest
	This multiple-choice question asks students to use text features such as chapter titles, headings and subheadings to gain information.

	26
	OAT  Mar 06
	RP-B
	RP 6.2
	Jump to It! 

&

Frogs Help This Family Stay Together

	Newspaper Article

Human Interest
	This short-answer question asks students to make meaning and demonstrate comprehension by responding to literal, inferential, evaluative and synthesizing questions.

	27
	OAT  Mar 06
	C
	RP 6.6
	Jump to It! 

&

Frogs Help This Family Stay Together

	Newspaper Article

Human Interest
	This multiple-choice question asks students to demonstrate reading comprehension by answering a literal question.

	28
	OAT  Mar 06
	C
	IT 6.3
	Jump to It! 

&

Frogs Help This Family Stay Together

	Newspaper Article

Human Interest
	This multiple-choice question asks students to show how a main idea from one Selection is connected to and supported by an idea from another Selection.



	29
	OAT  Mar 06
	E
	AV 6.6
	Jump to It! 

&

Frogs Help This Family Stay Together

	Newspaper Article

Human Interest
	This multiple-choice question asks students to apply their knowledge of suffixes and root words and their various inflections to analyze the meaning of the word coachable.

	35
	OAT  Mar 06
	B
	IT 6.2
	The Inca Empire of the Sun
	Social Studies
	This multiple-choice question asks students to recognize the difference between a fact and an opinion.

	36
	OAT  Mar 06
	B, RP-C
	RP 6.2,   RP 6.6
	The Inca Empire of the Sun
	Social Studies
	This short-answer question asks students to apply effective reading comprehension strategies such as summarizing and making predictions using information in the text.



	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Type
	Description

	37
	OAT  Mar 06
	A
	AV 6.1
	The Inca Empire of the Sun
	Social Studies
	This multiple-choice question asks students to use context clues and text structures to determine the meaning of the word prosper.

	38
	OAT  Mar 06
	B
	IT 6.2
	The Inca Empire of the Sun
	Social Studies
	This multiple-choice question asks students to analyze a text by recognizing the relationship between cause and effect.

	39
	OAT  Mar 06
	B
	IT 6.2
	The Inca Empire of the Sun
	Social Studies
	This short-answer question asks students to recognize the relationship of cause and effect with regard to the relay messenger system of the Inca.

	40
	OAT  Mar 06
	B
	IT 6.2
	The Inca Empire of the Sun
	Social Studies
	This multiple-choice question asks students to understand the cause and effect relationship with regard to the Inca farmers’ building canals in the coastal areas.

	41
	OAT  Mar 06
	A
	AV 6.1
	The Inca Empire of the Sun
	Social Studies
	This multiple-choice question asks students to use context clues and text structures to determine the meaning of the word ravines.

	42
	OAT  Mar 06
	A
	IT 6.5
	The Inca Empire of the Sun
	Social Studies
	This multiple-choice question asks students to use a graphic (a map) to gain information about the location of the Inca Empire.

	43
	OAT  Mar 06
	C
	RP 6.6
	The Inca Empire of the Sun
	Social Studies
	This multiple-choice question asks students to demonstrate comprehension by responding to a text-based question.

	35
	OAT  May 07
	C
	RP 6.6
	The “French 500”
	Social Studies
	This multiple-choice question asks students to show they understand what they read by answering different kinds of questions.

	36
	OAT  May 07
	IT-B
	IT 6.2
	The “French 500”
	Social Studies
	This short-answer question asks students to show that they understand what they read by answering different kinds of questions.

	37
	OAT  May 07
	A
	AV 6.1
	The “French 500”
	Social Studies
	This multiple-choice question asks students to use context clues, or the words and sentences around words, to define a word they may not know.

	38
	OAT  May 07
	D
	IT 6.7
	The “French 500”
	Social Studies
	This multiple-choice question asks students to understand an author’s purpose for writing.

	39
	OAT  May 07
	RP-C
	RP 6.6
	The “French 500”
	Social Studies
	This extended-response question asks students to understand cause and effect relationships – the way one event happens because of another event.

	40
	OAT  May 07
	F
	IT 6.4
	The “French 500”
	Social Studies
	This multiple-choice question asks students to understand and be able to identify which details within a text are important enough to be part of a summary.

	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Type
	Description

	41
	OAT  May 07
	B
	IT 4.7
	The “French 500”
	Social Studies
	This multiple-choice question asks students to understand the difference between fact and opinion.

	42
	OAT  May 07
	D
	IT 6.6
	The “French 500”
	Social Studies
	This multiple-choice question asks students to look and study how authors develop their point of view.

	43
	OAT  May 07
	B
	AV 6.3
	The “French 500”
	Social Studies
	This multiple-choice question asks students to understand that familiar words can have different meanings depending on how they are used in a sentence.

	10
	OAT  May 08
	RP-C
	RP 6.4
	Food For Thought
	Social Studies
	This multiple-choice question asks students to determine which question the information in the selection answers.

	11
	OAT  May 08
	B
	AV 6.4
	Food For Thought
	Social Studies
	This short-answer question asks students to infer meaning through the identification and analysis of the simile “the numbers are growing like weeds.”

	12
	OAT  May 08
	IT-E
	IT 6.8
	Food For Thought
	Social Studies
	This multiple-choice question asks students to determine the extent to which a summary accurately reflects the main idea, critical details and underlying meaning of the original text.

	13
	OAT  May 08
	A
	AV 6.1
	Food For Thought
	Social Studies
	This multiple-choice question asks students to use context clues to determine the meaning of the vocabulary word incorporate.

	14
	OAT  May 08
	A
	IT 6.1
	Food For Thought
	Social Studies
	This multiple-choice question asks students to use text features and graphics to organize, analyze and draw inferences from content and to gain additional information.


BACK TO INDEX
Passage:
Ella Fitzgerald
Author unknown

Her first dream was to be a dancer. Growing up in New York, she was inspired by “Snake Hips” Tucker, studying his serpentine moves and practicing them constantly with friends. Then, one fateful night at the Apollo Theater in 1934, the headlining Edwards Sisters brought down the house with their dancing. Amateur Hour began immediately after, and a 16-year-old Ella Fitzgerald stepped on stage, but was too intimidated to dance. Instead, she sang “Judy,” silenced the awestruck crowd, and won first prize. It was the beginning of one of the most celebrated careers in music history.

Born in Newport News, Virginia in 1917, Ella Fitzgerald moved with her mother to New York after the death of her father. Living in Yonkers, Fitzgerald attended public school, where she sang in the glee club and received her musical education. After her early success at the Apollo, and as a popular performer at a number of other amateur venues, Fitzgerald was invited to join Chick Webb’s band. Within a short while she was the star attraction, and had made a number of hits including her trademark “A-tisket, A-tasket” (1938). After Webb’s death in 1939, Fitzgerald led the band for three years.

During her time with Webb’s band, Fitzgerald recorded with a number of other musicians, including Benny Goodman. By the time she began her solo career in the mid-1940s, she was a well-respected figure throughout the music industry. Her vibrant and energetic voice showed an exceptional range and control. Performing with “Jazz at the Philharmonic,” her popularity grew beyond the music world. Throughout the 1950s and 1960s, she continued to perform as a jazz musician, but concentrated primarily on popular music. Rivaled only by Frank Sinatra, her recordings of work by Cole Porter, Ira and George Gershwin, and Rogers and Hart were incredibly successful.

One of the early “scat” performers,1 Fitzgerald found a place among the growing jazz innovators, making recordings with such greats as Billie Holiday, Duke Ellington, and Louis Armstrong.

1“scat” performers: singers using syllables and nonsense words to sound like musical instruments

BACK TO INDEX
	Benchmark:  C
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:                  RP 6.6 
	Answer literal, inferential, evaluative and synthesizing questions to demonstrate comprehension of grade-appropriate print texts, electronic and visual media.


Multiple Choice Question:

15.   Why was Ella Fitzgerald “too intimidated to dance” at the Apollo Theater?

A. because the previous performers were so good

B. because she felt she had not practiced enough

C. because the crowd in the theater was absolutely silent

D. because she felt comfortable dancing only in smaller theaters

Commentary:
This multiple-choice question asks students to demonstrate comprehension by responding to a question that requires synthesizing information and making inferences. The reason that Fitzgerald felt too intimidated to dance at the Apollo Theater is not explicitly stated. Students must read the sentences that precede this sentence and infer that because the headlining Edwards Sisters had brought down the house with their dancing, Fitzgerald was too intimidated by their success to dance. Choice A is correct as it addresses the successful performance of the Edwards Sisters as the reason for Fitzgerald’s intimidation. Choice B is incorrect because there is no textual support that Fitzgerald was concerned about her lack of practice. Choice C is incorrect because the crowd did not become silent until after Fitzgerald sang. Choice D is incorrect because there is no textual support that Fitzgerald felt comfortable dancing only in smaller theaters.
Performance Data:
The percent of public school students selecting answer choice A for question 15 on the March 2006 Grade 6 Reading Achievement was 60%.

Keywords:  inference, synthesis
BACK TO INDEX
	Benchmark:  F
	Use multiple resources to enhance comprehension of vocabulary.

	GLI:                   AV 6.8
	Determine the meanings and pronunciations of unknown words by using dictionaries, thesauruses, glossaries, technology and textual features, such as definitional footnotes or sidebars.


Multiple Choice Question:

16.   What do the selection and footnote suggest about “scat” performers?

A. They are jazz composers.

B. They are inventive singers.

C. They are famous musicians.

D. They are experienced instrumentalists.

Commentary:
This multiple-choice question asks students to use multiple resources to enhance comprehension of text. The footnote that is attached to the word scat gives the definition of the word as “singers using syllables and nonsense words to sound like musical instruments”. Choice A is incorrect because the sentence context and the footnote indicate that they were performers rather than composers. Choice B is correct. The sentence itself refers to the performers as “innovators” which means that they were very creative or inventive. Choice C is incorrect because the footnote indicates that they were singers rather than musicians. Choice D is incorrect because the footnote indicates that they were singers rather than instrumentalists. 
Performance Data:
The percent of public school students selecting answer choice B for question 16 on the March 2006 Grade 6 Reading Achievement was 43%.

Keywords:  multiple resources, vocabulary, context clues
BACK TO INDEX
	Benchmark:     D
	Identify arguments and persuasive techniques used in informational text.

	GLI:                       IT 6.6
	Identify an author's argument or viewpoint and assess the adequacy and accuracy of details used.


Short Answer Question:

17. Identify two factual details from the selection that support the author’s positive evaluation of Ella Fitzgerald.

Write your answer in the Answer Document. (2 points)

Commentary:
This short-answer question asks students to identify an author’s argument or viewpoint and assess the adequacy and accuracy of details used to support the viewpoint.  The author of the selection presents a very favorable portrayal of Ella Fitzgerald. For this question, students must identify two details from the selection that support the author’s positive viewpoint of Fitzgerald. Many details are available from which students may choose. When Fitzgerald sang “Judy,” she “silenced” the crowd. She won first prize at the Apollo Theater Amateur Hour. She was “a popular performer at a number of other amateur venues.” She was invited to join Chick Webb’s band. She was a star attraction of the Chick Webb band and made many hits. She led the band for three years. Her performance on “Jazz at the Philharmonic” was well-received. Her recordings were popular. She made recordings with other well-respected artists. She had one of the most celebrated careers in history. Any two of these facts support the overall positive representation of Fitzgerald in the selection.
Scoring Guidelines:

	Exemplar Response:



	Other Correct Response(s):



	Points
	Student Response

	2 point text
	Points awarded for a complete and accurate statement.

Response includes two of the following correct factual details: 


• When Fitzgerald sang “Judy,” she “silenced” the crowd. 

• She won first prize at the Apollo Theater Amateur Hour.

• She was “a popular performer at a number of other amateur venues.”

• She was invited to join Chick Webb’s band.

• She was a star attraction of the Chick Webb band and made many hits.

• She led the band for three years.
• Her performance on “Jazz at the Philharmonic” was well received.

• Her recordings were popular.

• She made recordings with other well-respected artists. 

• She had one of the most celebrated careers in history.

	1 point text


	Point awarded for a partially complete or somewhat inaccurate statement.

Response includes one of the correct factual details listed above, with an incorrect or missing factual detail.

	
	1 point sample answer:



	0 point text


	No point awarded if a statement is non-existent or completely inaccurate.

Response contains none of the correct factual details listed above, is incomplete, irrelevant or blank.

	
	0 point sample answer:




Performance Data:
The percent of public school students earning each score point for question 17 on the March 2006 Ohio Grade 6 Reading Achievement:

	Performance at Each Score Point


  0

  1

  2


37%

28%

33%


Keywords:  author’s viewpoint, persuasive techniques, support, details

BACK TO INDEX
	Benchmark:     A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:                  AV 6.1
	Define the meaning of unknown words by using context clues and the author’s use of definition, restatement and example.


Multiple Choice Question:

18. “After her early success at the Apollo, and as a popular performer at a number of other amateur venues, Fitzgerald was invited to join Chick Webb’s band.”

What does the word venues mean?

A. singing artists

B. musical groups

C. entertainment halls

D. dance competitions

Commentary:
This multiple-choice question asks students to define the meaning of the word venues by using context clues. A venue is a place where a gathering or public event occurs. The Apollo is identified in the sentence as the place where Fitzgerald had her first successful performance. The sentence goes on to refer to her having opportunities to perform in other such situations or venues. Based on the context clue that the Apollo is an example of a venue, students can infer the meaning. Choice A is incorrect because the context of the sentence indicates that Fitzgerald performed at a venue; one would not perform at a singing artist. Choice B is incorrect for the same reason. Fitzgerald would not have performed at a musical group. Choice C is correct. The Apollo is identified earlier in the selection as an entertainment hall. In this sentence the Apollo is referred to as an example of a venue. Choice D is incorrect because Fitzgerald’s fame came as a result of her singing rather than for dancing.
Performance Data:
The percent of public school students selecting answer choice C for question 18 on the March 2006 Grade 6 Reading Achievement was 36%.

Keywords:  vocabulary, context clues
BACK TO INDEX
	Benchmark:     IT-F
	Determine the extent to which a summary accurately reflects the main idea, critical details and underlying meaning of original text.

	GLI:                      IT 6.4
	Compare original text to a summary to determine the extent to which the summary adequately reflects the main ideas and critical details of the original text.


Multiple Choice Question:

19. Which statement best describes how the selection is organized?

A. The selection describes Ella Fitzgerald’s awards later in life and then flashes back to important moments in her career. 

B. The selection describes Ella Fitzgerald’s first appearance at the Apollo Theater and then provides career highlights.

C. The selection describes Ella Fitzgerald’s early life in New York and the beginning of her career.

D. The selection describes Ella Fitzgerald’s life and career in chronological order.

Commentary:
This multiple-choice question asks students to identify the method of organization used by the author in the selection which requires students to draw conclusions about the topic. Choice A is incorrect because the selection does not begin with Fitzgerald’s later life. Choice B is correct because the first paragraph focuses on Fitzgerald’s first appearance at the Apollo Theater and then proceeds to provide career highlights. Choice C is incorrect because the passage does not focus solely on Fitzgerald's early life and career. Choice D is incorrect because the passage is not linear.

Performance Data:
The percent of public school students selecting answer choice B for question 19 on the March 2006 Ohio Grade 6 Reading Achievement was 41%.

Keywords:  organization, draw conclusion
BACK TO INDEX
Passage:
Jump to It!
Americans have been frog-wild for jumping contests ever since Mark Twain’s famous story, “The Celebrated Jumping Frog of Calaveras County,” was published in the late 1800s.

One of the biggest contests is held in Calaveras County, California, the setting of Twain’s original story. “We’ll jump frogs about 4,000 times, about a thousand a day,” says Laurie Giannini, an organizer of the Calaveras County event.

Contestants come from all over the country to test their frogs in the home of frog jumping, partly for the honor, but the prizes draw them, too. Beating the world three-hop record of 21 feet, 5 ¾ inches will earn some lucky frog jockey $5,000. Equaling the record will earn $1,000, and each year’s winner gets $750.

That’s big money for some people; how do you get your frog to do its best?  Frogs don’t understand about money, and they’re not very coachable. “You can’t train a frog,” said Giannini. “A frog is going to do what it wants to.

”Jump, Frog, Jump!
Getting a frog airborne is a very individual thing. “Everybody has their own method,” says Marsha Karley, with the Fair Oaks Fiesta Frog Jump in Fair Oaks, California. “Some of them stamp behind them; some of them spray water on them just before they jump.” In Kernville, California, where they hold a frog jump in February as part of the Flats Days celebration, cold weather can sometimes play a role. “The frogs, they don’t want to jump. Contestants get warm water and put it in squirt guns and sort of encourage them,” says Ann Clements.

But according to Calaveras frog catcher Rod Dwelley, it’s the call of the wild that really sets a frog to hopping. “You want to have a really good jumping frog, it needs to come right out of the wild,” says Dwelley. “Frogs we rent to people are getting used to people. They tend not to jump as far.

”Rental Frogs?
It turns out that some of the jumping frogs you see at these contests are pros, shipped in special for the event. Ann Clements concedes that the Flats Days Celebration looks elsewhere for their jumping stock. “Actually, we get our frogs from Tennessee,” she says.

Rayne, Louisiana, billed by residents as the Frog Capital of the World, also gets a lot of their frogs from the frog market, though they are raised locally. “We rent frogs,” says Paul Kedinger, with the Rayne Frog Festival in Rayne, Louisiana, “but we do have some people who go out and catch their own.”

Frogs Help This Family Stay Together

Sam Richards

Gabby is learning the finer points of coaxing the frogs to jump by pounding the ground behind them. It takes open hands, palms to the ground, repeated as needed to make the frog jump—straight ahead, ideally.

Lisa Fasano said that, even last year, baby Gabby was really getting the hang of it in practice. But she wilted under the glare of the spotlight at last year’s contest in Angels Camp.

“She was star-struck, and she just sat there looking at everyone,” said Lisa, 32. It’s hoped a more mature Gabby will fare better this year.

There are hundreds of children among the 2,300-or-so contestants each year, said Buck King, manager of the Calaveras County Fair and former longtime manager of the Jumping Frog Jubilee.

In 20 years of jumping jubilees, King said he’s seen it all: giant African bullfrogs, toads “as big as wash tubs” that couldn’t jump, a three-legged overall champion in 1996, even a “circus side show” one year featuring frogs dressed as circus performers.

“Lots of people sign their toddlers in there to make the frogs jump,” King said. “If they win, it’s something else.”

A champion setting a world record wins $5,000; a non-record winner walks away with $1,500.

Frogs aren’t really trainable, and the Fasanos and other competitors must discover raw talent in ponds, canals and swamps. The Fasanos make several trips a year to their favorite bullfrog breeding ground, canals “somewhere in the San Joaquin Valley,” to catch their jumpers. Frank won’t name exact locations: “It’s very competitive out there, and it’s kind of a family secret.”

Between now and May, Frank, Lisa and their relatives will catch at least 150 frogs for auditions.

They won’t get names, and almost all eventually get released near where they’re caught.

What started in 1959, when Frank’s father Gene Fasano and Frank’s uncle, Frank Borrelli, went from their native Gustine to their first Jumping Frog Jubilee has become a true family affair since then, Frank Fasano said. Gene has missed only one Calaveras jubilee since then, for his wedding.

The frog catching, usually at night with floodlights and nets, is as much bonding experience as the contest itself, Frank Fasano said. And if it wasn’t frogs that kept the Fasanos close, he said, it would probably be something else.

“It’s all about the family getting together, and we’ve got an activity we can call our own,” he said.

BACK TO INDEX
	Benchmark:  D
	Identify arguments and persuasive techniques used in informational text.

	GLI:                    IT 6.7
	Identify and understand an author’s purpose for writing, including to explain, entertain, persuade or inform.


Multiple Choice Question:

20. In SELECTION 1, what was the author’s main purpose?

A. to write a serious historical study of frog jumping

B. to write an essay that is critical of frog-jumping contests

C. to write a scientific analysis of why some frogs jump farther than others

D. to write an entertaining article that provides details about frog-jumping contests

Commentary:
This multiple-choice question asks students to identify and understand an author’s purpose for writing. Various purposes include to explain, entertain, persuade and inform. Jump to It! is an informational selection about frog jumping which has an entertaining tone. Choice A is incorrect even though the selection does address the history of frog jumping. It does not qualify as a serious study. Choice B is incorrect because the author does not criticize frog jumping. Choice C is incorrect even though the selection does address the topic of why some frogs jump farther than others. It is not, however, a scientific analysis of this topic. Choice D is correct because the selection focuses on the informational and entertaining aspects of frog jumping.
Performance Data:
The percent of public school students selecting answer choice D for question 20 on the March 2006 Grade 6 Reading Achievement was 61%.

Keywords:  author’s purpose, informational text
BACK TO INDEX
	Benchmark:  C
	Explain how main ideas connect to each other in a variety of sources.

	GLI:             IT 6.3
	Compare and contrast important details about a topic, using different sources of information including books, magazines, newspapers and online resources.


Extended Response Question:

21. Identify four pieces of information about frog jumping that are mentioned in both SELECTION 1 and SELECTION 2.


Write your answer in the Answer Document. (4 points)

Commentary:
This extended-response question asks students to explain how main ideas connect to each other in different sections of the selection. Students must compare and contrast important details about a topic from two different sources and then determine which details are located in both sources. This skill is useful when students research a topic and must locate information in various sources. Correct responses to this particular question include the following ideas:  frog-jumping contests have been held for years, a frog-jumping contest is held in Calaveras County, California, the prize for setting a new world record at the Calaveras County event is $5,000, frogs are not trainable, contestants encourage their frogs to jump, frogs from the wild are good jumpers and some people catch their own frogs.
Scoring Guidelines

	Exemplar Response:



	Other Correct Response(s):



	Points
	Student Response

	4 point text
	Points awarded for a complete and accurate statement.

Response includes four of the following correct pieces of information:


• Frog-jumping contests have been held for years.

• A frog-jumping contest is held in Calaveras County, California.

• The prize for setting a new world record at the Calaveras County event is $5,000.

• Frogs are not trainable.

• Contestants encourage their frogs to jump.

• Frogs from the wild are good jumpers.

• Some people catch their own frogs.


	3 point text


	Points awarded for a mostly complete and largely accurate statement.

Response includes three of the correct pieces of information listed above, with an incorrect or missing piece of information.


	
	3 point sample answer:



	2 point text


	Points awarded for a partially complete and somewhat inaccurate statement.

Response includes two of the correct pieces of information listed above, with two incorrect or missing pieces of information.

	
	2 point sample answer:



	1 point text


	Point awarded for a largely incomplete and mostly inaccurate statement.

Response includes one of the correct pieces of information listed above, with three incorrect or missing pieces of information.

	
	1 point sample answer:



	0 point text


	No point awarded if a statement is non-existent or completely inaccurate.

Response does not contain any of the correct pieces of information listed above, is incomplete, irrelevant or blank.

	
	0 point sample answer:




Performance Data:
The percent of public school students earning each score point for question 21 on the March 2006 Grade 6 Reading Achievement:

	Performance at each Score Point

	4
	3
	2
	1
	0

	22%
	26%
	23%
	17%
	10%


Keywords:  main idea, various sources  

BACK TO INDEX
	Benchmark:  D
	Identify arguments and persuasive techniques used in informational text.

	GLI:                    IT 6.7
	Identify and understand an author’s purpose for writing, including to explain, entertain, persuade or inform.


Multiple Choice Question:

22. What was the author’s main purpose in writing SELECTION 2?

A. to identify the better locations to find jumping frogs in California

B. to persuade more people to participate in frog-jumping contests

C. to describe frog-jumping contests from the viewpoint of contestants

D. to compare the contest in Calaveras County with other contests around the country

Commentary:
This multiple-choice question asks students to identify and understand the author’s purpose for writing Selection 2. This task requires that students examine a larger piece of text and draw a conclusion about the overall purpose or intent of the author. Choice A is incorrect even though information about locationing jumping frogs in California is found in Selection 2. It is only a small portion of the selection rather than the main purpose. Choice B is incorrect. The author does not try to persuade people to participate in frog-jumping contests in the selection. Choice C is correct because Selection 2 is told from the viewpoint of frog-jumping contestants. Choice D is incorrect because the author does not compare the contest in Calaveras County with other contests around the country. 
Performance Data:
The percent of public school students selecting answer choice C for question 22 on the March 2006 Grade 6 Reading Achievement was 59%.
Keywords:  author’s purpose, informational text
BACK TO INDEX
	Benchmark:  A
	Determine a purpose for reading and use a range of reading comprehension strategies to better understand text.

	GLI:                  RP 6.5
	Select, create and use graphic organizers to interpret textual information.


Multiple Choice Question:

23. Which organizational tool would most clearly contrast the lengths of winning jumps over ten years at the Calaveras County event?

A. a timeline

B. a pie chart

C. a bar graph

D. a Venn diagram

Commentary:
This multiple-choice question asks students to determine a purpose for reading and use a range of reading comprehension strategies to better understand text. One of those comprehension strategies includes selecting a graphic organizer to interpret textual information. Choice A is incorrect because a timeline uses one variable which is time. The graphic organizer best suited for this type of information must allow for at least two variables: the length of the jumps and each year of the contest. Choice B is incorrect because a pie chart does not allow information to intersect; each piece of information is compartmentalized. Choice C is correct because the two necessary variables (length and year) can be represented in ways that allow for comparison. Choice D is incorrect because it does not allow for incremental changes to any of the variables.
Performance Data:
The percent of public school students selecting answer choice C for question 23 on the March 2006 Grade 6 Reading Achievement was 44%.

Keywords:  comprehension strategy, organizational chart  
BACK TO INDEX
	Benchmark:  C
	Apply knowledge of connotation and denotation to learn the meanings of words.

	Benchmark: AV-A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:                       AV 6.1,           AV 6.3
	AV 6.1:   Define the meaning of unknown words by using context clues and the author’s use of definition, restatement and example.
AV 6.3:   Identify analogies and other word relationships, including synonyms  and antonyms, to determine the meaning of words. 


Multiple Choice Question:
24. “Lisa Fasano said that, even last year, baby Gabby was really getting the hang of it in practice. But she wilted under the glare of the spotlight at last year’s contest in Angels Camp. 


“‘She was star-struck, and she just sat there looking at everyone... .’”


What does the word wilted mean as it is used in the second sentence above?

A. lost her confidence

B. became thirsty

C. lost all strength

D. became ill

Commentary:
This multiple-choice question asks students to understand the connotative and denotative meaning of the word wilted in the sentence. Baby Gabby had become good at coaxing the frog to jump in practice sessions, but when she was taken to the competition in Angels Camp, she wilted or lost her confidence as a result of being “in the spotlight”. Choice A is the correct response as it identifies baby Gabby’s loss of confidence. Choice B is incorrect because no information in the selection indicates that Gabby was thirsty. Choice C is incorrect for the same reason; no information in the selection indicates that Gabby had a loss in strength. Choice D is incorrect because no information in the selection indicates that Gabby was ill.

Performance Data:
The percent of public school students selecting answer choice A for question 24 on the March 2006 Grade 6 Reading Achievement was 76%.

Keywords:  connotation, denotation, vocabulary
BACK TO INDEX
	Benchmark:  A
	Use text features and graphics to organize analyze and draw inferences from content and to gain additional information.

	GLI:                IT 6.1
	Use text features, such as chapter titles, headings and subheading; parts of books, including index, appendix, table of contents and online tools (search engines) to locate information.


Multiple Choice Question:

25. The section in SELECTION 1 titled “Rental Frogs?” includes which piece of information?

A. The Flats Days Celebration is held in February.

B. Wild frogs may jump further than rented frogs.

C. People rent or catch frogs for the Rayne Frog Festival.

D. Contestants use different ways to get their frogs to jump.

Commentary:
This multiple-choice question asks students to use text features such as chapter titles, headings and subheadings to gain information. The passage is divided into two selections. The question asks the student to locate a piece of information under the selection entitled Rental Frogs. The intent is for students to learn how to use headings and subheadings. Choice A is incorrect because the information found therein is located in paragraph 5 of Selection I. Choice B is incorrect because it is located in paragraph 6 of Selection I. Choice C is correct. This information is found in paragraph 8 of Selection 1. Choice D is incorrect. This information is found in Selection 2.
Performance Data:
The percent of public school students selecting answer choice C for question 25 on the March 2006 Grade 6 Reading Achievement was 55%.

Keywords:  text features, subheadings, locate information
BACK TO INDEX
	Benchmark:  RP-B
	Apply effective reading comprehension strategies, including summarizing and making predictions and comparisons, using information in text, between text and across subject areas.

	GLI:                 RP 6.2
	Predict or hypothesize as appropriate from information in the text, substantiating with specific references to textual examples that may be in widely separated sections of text.


Short Answer Question:

26. In the fifth paragraph of PASSAGE 1, Marsha Karley says, “Everybody has their own method.” Explain what Karley means by “method” and identify an example from either passage.

Write your answer in the Answer Document. (2 points)
Commentary:
This short-answer question asks students to make meaning and demonstrate comprehension by responding to literal, inferential, evaluative and synthesizing questions. The author does not directly define the word method in the selection, but goes on to give examples of what it means. The student is able to infer or draw the conclusion that the author means the manner or way of getting frogs to jump. The examples available for the student to use include stamping behind the frogs, spraying water on the frogs, squirting the frogs with warm water in cold weather and pounding the ground around the frogs with open hands.

Scoring Guidelines

	Exemplar Response:



	Other Correct Response(s):



	Points
	Student Response

	2 point text
	Points awarded for a complete and accurate statement.

Response includes the following correct explanation: “Method” refers to a manner or way of getting frogs to jump.
- AND – one of the following correct methods:


• stamping behind the frogs

• spraying water on the frogs

• squirting frogs with warm water in cold weather

• pounding the ground around frogs with open hands


	1 point text


	Point awarded for a partially complete or somewhat inaccurate statement.

Response includes the correct explanation listed above, with an incorrect or missing method.

Note: No point will be awarded for a correct method if the explanation upon which it is based is incorrect or missing.

	
	1 point sample answer:



	0 point text


	No point awarded if a statement is non-existent or completely inaccurate.

Response does not contain the correct explanation listed above, is incomplete, irrelevant or blank.

Note: No point will be awarded for a correct method if the explanation upon which it is based is incorrect or missing.

	
	0 point sample answer:




Performance Data:
The percent of public school students earning each score point for question 26 on the March 2006 Grade 6 Reading Achievement:

	Performance at Each Score Point


  0

  1

  2


18%

34%

45%


Keywords:  inference, synthesis, comprehension
BACK TO INDEX
	Benchmark:  C
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:                  RP 6.6 
	Answer literal, inferential, evaluative and synthesizing questions to demonstrate comprehension of grade-appropriate print texts, electronic and visual media.


Multiple Choice Question:

27. According to SELECTION 2, why did Gene Fasano miss the Calaveras County event one year?

A. His granddaughter Gabby was born.

B. He could not find a good frog.

C. His son entered in his place.

D. He was getting married.

Commentary:
This multiple-choice question asks students to demonstrate reading comprehension by answering a literal question. The student can find the answer explicitly stated in the text; in addition, the question directs the student to a particular section of the text. Choice A is incorrect because the information is not stated anywhere in the text. Choice B is incorrect because the information is not stated anywhere in the text. Choice C is incorrect because the information is not stated anywhere in the text. Choice D is correct because the author states in paragraph 19 that Gene Fasano missed the Calaveras County event one year to attend his wedding.
Performance Data:
The percent of public school students selecting answer choice D for question 27 on the March 2006 Grade 6 Reading Achievement was 70%.

Keywords:  literal question, text-based question
BACK TO INDEX
	Benchmark:  C
	Explain how main ideas connect to each other in a variety of sources.

	GLI:                  IT 6.3
	Compare and contrast important details about a topic, using different sources of information including books, magazines, newspapers and online resources.


Multiple Choice Question:
28. In SELECTION 2, Frank Fasano claims “‘it’s very competitive out there.’” Which statement from SELECTION 1 supports this claim?
A. “Contestants come from all over the country to test their frogs in the home of frog  jumping....”
B. “Frogs don’t understand about money, and they’re not very coachable.” 
C. “Getting a frog airborne is a very individual thing.”
D. “Contestants get warm water and put it in squirt guns and sort of encourage them....’”

Commentary:
This multiple-choice question asks students to show how a main idea from one Selection is connected to and supported by an idea from another Selection. Choice A is correct because the fact that contestants come from all over the country indicates that the event is very competitive. Choice B is incorrect because it does not address the competition directly but rather focuses on the ability of frogs to be coachable. Choice C is incorrect because it does not address the competition as a whole but rather focuses on only one aspect of the competition. Choice D is incorrect because it does not address the competition as a whole but rather focuses on only one method of getting the frogs to jump.
Performance Data:
The percent of public school students selecting answer choice A for question 28 on the March 2006 Grade 6 Reading Achievement was 63%.

Keywords:  main idea, different sources
BACK TO INDEX
	Benchmark:  E
	Use knowledge of roots and affixes to determine the meanings of complex words.

	GLI:            AV 6.6
	Apply the knowledge of prefixes, suffixes and roots and their various inflections to analyze the meanings of words.


Multiple Choice Question:
29. “Frogs don’t understand about money, and they’re not very coachable.”

In the sentence above, what does the word formed by the root word coach and the suffix –able mean?

A. having the capacity to be taught

B. in the manner of a teacher

C. in a forward direction

D. showing great ability

Commentary:
This multiple-choice question asks students to apply their knowledge of suffixes and root words and their various inflections to analyze the meaning of the word coachable. The root word “coach” has been combined with the word “able”. Students must analyze the meaning of the new word “coachable” that is created as a result of this combination. Choice A is correct because the word “coach” means “to teach or to train”. The word “able” means “having the capacity to be taught or trained”. Therefore, the word “coachable” means “having the capacity to be taught”. The frogs are not easy to train or teach. Choice B is incorrect because the word “coachable” is used to describe the frogs which are not teachers. Choices C and D are incorrect because they do not fit the correct meaning of the word in the sentence.
Performance Data:
The percent of public school students selecting answer choice A for question 29 on the March 2006 Grade 6 Reading Achievement was 73%.

Keywords:  vocabulary, root word, context clue
BACK TO INDEX
Passage:
[image: image1.emf]
The Inca Empire of the Sun
Amy Miller

The Inca empire was one of the best organized in history. The system of government was like a pyramid, with the emperor at the top. The emperor lived in the sacred capital city of Cuzco.

“The riches that were gathered in the city of Cuzco alone ... were incredible,” says one account of Inca culture written 300 years ago. In Cuzco, each emperor built a magnificent palace filled with gold, silver, and other treasures.

The Inca called their empire Tahuantinsuyu,(tee-wahn-teen-SOO-yoh), which means “Land of Four Quarters,” because it was divided into four parts. A governor ruled each part, which was further divided into smaller regions. These were ruled by hundreds of local officials. At the bottom of the Inca social pyramid were millions of farmers. 

The Life of the People
This careful organization of the empire made it possible to control the lives of everyone. It also helped the Inca prosper. Inca rulers made sure that everyone had enough to eat. Each farmer was given enough land to meet his family’s needs. But farmers were allowed to keep only one third of their crops. Another third went to the Inca priests. The final third went to the Inca emperor, to be put in storehouses to feed the army, government officials, and any people unable to feed themselves. In times of famine, the storehouses saved the people from starvation.

The life of the common people was hard. The steep mountains, poor soil, and dry coastal land made growing enough food difficult. But with the help of skilled architects, engineers, and stonemasons, the Inca found solutions to all these problems.

On steep mountainsides, they carved out planting areas called terraces, that looked like stair steps. In coastal areas, where it seldom rained, farmers built canals to bring water down from the mountains to irrigate (water) their crops.

The Inca empire provided for almost every need of the people, but gave them little freedom or privacy. Homes could not have doors so that they could be inspected for cleanliness. Inca officials even told young people whom to marry. 

Connecting the Empire

An efficient communications system connected and strengthened the huge Inca empire. Although the Inca never developed the wheel, more than 18,000 miles of roads linked the emperor to the people he ruled. Every farmer paid taxes by doing work for the government. This often included building roads and bridges.

Inca roads and bridges were marvels of engineering—crossing rivers and even tunneling through mountains. Suspension bridges, made of plant fibers, spanned deep ravines.

Ordinary people needed special permission to travel on the roads, which were mainly used by armies, government officials, and a 24-hour messenger service.

Messengers lived in small huts located about a mile apart on the major highways. Trained to run at high speeds, a messenger would repeat the message at the next hut, where another messenger would speed off to the next hut. In this way, news could travel about 150 miles a day.

BACK TO INDEX
	Benchmark:  B
	Recognize the difference between cause and effect and fact and opinion to analyze text.

	GLI:                          IT 6.2
	Analyze examples of cause and effect and fact and opinion.


Multiple Choice Question

35. In Cuzco, each emperor built a magnificent palace filled with gold, silver, and other treasures.”

Which idea from the sentence above represents an opinion?

A. Palaces were built in Cuzco.

B. Every emperor built a palace.

C. The imperial palaces were magnificent.

D. The imperial palaces were filled with treasures.

Commentary:
This multiple-choice question asks students to recognize the difference between a fact and an opinion. The sentence contains both factual and opinionated information, so the student must make the distinction. Choice A is incorrect because it is a fact that the palaces were built in Cuzco. Choice B is incorrect because it is a fact that every emperor built a palace. Choice C is correct because describing the palaces as magnificent represents an opinion. What is magnificent to one person, may not be so to another person. Choice D is incorrect because it is a fact that the palaces were filled with treasures.
Performance Data:
The percent of public school students selecting answer choice C for question 35 on the March 2006 Grade 6 Reading Achievement was 69%.

Keywords:  fact and opinion, informational text
BACK TO INDEX
	Benchmark:  B
	Apply effective reading comprehension strategies, including summarizing and making predictions and comparisons, using information in text, between text and across subject areas.

	Benchmark: RP-C
	Make meaning through asking, and responding to a variety of questions related to text.

	GLI:                   RP 6.2,              RP 6.6
	RP 6.2:      Predict or hypothesize as appropriate from information in the text, substantiating with specific references to textual examples that may be in widely separated sections of text.
RP 6.6:     Answer literal, inferential, evaluative and synthesizing questions to demonstrate comprehension of grade-appropriate print texts, electronic and visual media.


Short Answer Question:

36. Only particular groups of people were allowed to use Inca roads on a regular basis. Identify one of these groups and state a likely reason why the travel of this group was acceptable.

Write your answer in the Answer Document. (2 points)

Commentary:
This short-answer question asks students to apply effective reading comprehension strategies such as summarizing and making predictions using information in the text. First, the student must identify the particular groups of people permitted to use the Inca roads. This task requires the student to summarize the text. Next, the student must predict a likely reason why the travel of this group was acceptable. This prediction must be based on information found in the text. Army troups were permitted to travel the Inca roads to keep the people safe. Government officials, emperor, local officials were also permitted to travel the Inca roads to help the government work efficiently for ownership of the roads. Messengers were also permitted on the road so that news could travel fast.

Scoring Guidelines:

	Exemplar Response:



	Other Correct Response(s):



	Points
	Student Response

	2 point text
	Points awarded for a complete and accurate statement.

Response includes one of the following correct groups and corresponding reason: 


• (Group # 1): army troups 

(Reason for Group #1): to keep the people safe


• (Group # 2): government officials, emperor, local officials  

(Reason for Group #2): to help government work efficiently, for ownership of the roads


• (Group # 3): messengers 

(Reason for Group #3): so that news could travel fast

	1 point text


	Point awarded for a partially complete or somewhat inaccurate statement.

Response includes one of the correct groups listed above, with an incorrect or missing reason.

	
	1 point sample answer:



	0 point text


	No point awarded if a statement is non-existent or completely inaccurate.

Response does not contain any of the correct answers listed above, is incomplete, irrelevant or blank.

	
	0 point sample answer:




Performance Data:
The percent of public school students earning each score point for question 36  on the March 2006 Grade 6 Reading Achievement:

	Performance at Each Score Point

0

  1

  2

  37%

   34%

    28%


Keywords:  summarization, prediction
BACK TO INDEX
	Benchmark:  A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:                  AV 6.1
	Define the meaning of unknown words by using context clues and the author’s use of definition, restatement and example.


Multiple Choice Question:

37. This careful organization of the empire made it possible to control the lives of everyone. It also helped the Inca prosper. Inca rulers made sure that everyone had enough to eat.”  

What does the word prosper mean in the second sentence above?

A. do well

B. rule kindly

C. become wise

D. become famous
Commentary:
This multiple-choice question asks students to use context clues and text structures to determine the meaning of the word prosper. Choice A is correct because the word “prosper” means to achieve success. The context clue which helps identify the correct definition appears in the next sentence. The Inca had enough to eat due to the careful organization of the empire by the Inca rulers. Choice B is an attractive response but in the context of the sentence, the word “prosper” is associated with the Inca people in general rather than the rulers. Choice C is incorrect because nothing in the sentence connects it to the idea of becoming wise. Choice D is incorrect because nothing in the sentence connects it to the idea of becoming famous.
Performance Data:
The percent of public school students selecting answer choice A for question 37 on the March 2006 Grade 6 Reading Achievement was 57%.

Keywords:  context clues, text structures, vocabulary
BACK TO INDEX
	Benchmark:  B
	Recognize the difference between cause and effect and fact and opinion to analyze text.

	GLI;                 IT 6.2
	Analyze examples of cause and effect and fact and opinion.


Multiple Choice Question:

38. Why did the Inca farmers build terraces to plant their crops?

A. to carry their grain to government storehouses more easily

B. to be able to grow grain up the sides of very steep mountains

C. to make it hard for officials to inspect and tax the grain harvest

D. to cultivate grain for the priests at the highest elevation possible

Commentary:
This multiple-choice question asks students to analyze a text by recognizing the relationship between cause and effect. The question asks students to locate information that explains what caused the Inca farmers to build terraces to plant crops. Choice A is incorrect because no information can be found in the selection to support this fact. Choice B is correct because the author makes it clear that life was hard for the common people because they lived on steep mountains; consequently, they built the terraces as a means of having flat areas for planting on the sides of the mountains. Choice C is incorrect because no information is found in the selection to support this fact. Choice D is incorrect because the selection gives no indication that the people cultivated grain for the priests at the highest elevation possible.

Performance Data:
The percent of public school students selecting answer choice B for question 38 on the March 2006 Grade 6 Reading Achievement was 57%.

Keywords:  cause and effect, informational text
BACK TO INDEX
	Benchmark:  B
	Recognize the difference between cause and effect and fact and opinion to analyze text.

	GLI;                 IT 6.2
	Analyze examples of cause and effect and fact and opinion.


Short Answer Question:

39. In the section titled “Connecting the Empire,” the messenger relay system was an example of cause and effect. Explain what the cause and effect is and how it benefited the Inca people.

Write your answer in the Answer Document. (2 points)

Commentary:
This short-answer question asks students to recognize the relationship of cause and effect with regard to the relay messenger system of the Inca.  The student must understand how one event resulted in another and then identify how these events impacted the Inca culture as a whole.   The author states that the arrival of one messenger signaled the departure of another one, which resulted in a spread of news throughout the empire. Because each messenger ran from hut to hut, a piece of news could travel 150 miles a day. The long-distance news would not be relayed if the messengers did not run short distances. 

Scoring Guidelines:

	Exemplar Response:



	Other Correct Response(s):



	Points
	Student Response

	2 point text
	Points awarded for a complete and accurate statement.

Response includes the following correct cause and effect: The arrival of one messenger signaled the departure of another one, which resulted in a spread of news throughout the empire.
- AND – the following correct benefit: Because each messenger ran from hut to hut, a piece of news could travel 150 miles a day. The long-distance news would not be relayed if the messengers did not run short distances.


	1 point text


	Point awarded for a partially complete or somewhat inaccurate statement.

Response includes the correct cause and effect listed above, with an incorrect or missing benefit.

NOTE: No point will be awarded for a correct benefit if the cause and effect upon which it is based is incorrect or missing.

	
	1 point sample answer:

	0 point text


	No point awarded if a statement is non-existent or completely inaccurate.

Response does not contain the correct cause and effect listed above, is incomplete, irrelevant or blank.

NOTE: No point will be awarded for a correct benefit if the cause and effect upon which it is based is incorrect or missing.

	
	0 point sample answer:




Performance Data:
The percent of public school students earning each score point for question 39 on the March 2006 Grade 6 Reading Achievement:

	Performance at Each Score Point

0

  1

  2

 67%

   16%

   12%


Keywords:  cause and effect, informational text

BACK TO INDEX
	Benchmark:  B
	Recognize the difference between cause and effect and fact and opinion to analyze text.

	GLI;                 IT 6.2
	Analyze examples of cause and effect and fact and opinion.


Multiple Choice Question:

40. Why did Inca farmers build canals in the coastal areas?

A. They had to create a faster way to get to market. 

B. They needed to get water for their crops to grow.

C. They were storing water for the dry season.

D. They had to give water to the emperor

Commentary:
This multiple-choice question asks students to understand the cause and effect relationship with regard to the Inca farmers’ building canals in the coastal areas. Choice A is incorrect because the canals were built to address the shortage of water for the crops rather than as a faster way to get to market. Choice B is correct because the author states that the coastal areas of the Inca empire were dry and therefore, a difficult place to grow crops. In order to address this problem, the Inca built the canals to bring water down from the mountains to irrigate their crops. Choice C is incorrect because the information in the selection does not indicate that the Inca stored water for the dry season. Choice D is incorrect because the information in the selection does not indicate that the Inca had to give water to the emperor.
Performance Data:
The percent of public school students selecting answer choice B for question 40 on the March 2006 Grade 6 Reading Achievement was 73%.

Keywords:  cause and effect, informational text
BACK TO INDEX
	Benchmark:  A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:                  AV 6.1
	Define the meaning of unknown words by using context clues and the author’s use of definition, restatement and example.


Multiple Choice Question:

41. “Suspension bridges, made of plant fibers, spanned deep ravines.”

What are ravines?

A. roads above high cliffs

B. mountains with sharp peaks

C. wide rivers with shallow banks

D. narrow valleys with steep sides

Commentary:
This multiple-choice question asks students to use context clues and text structures to determine the meaning of the word ravines. Choice A is incorrect because the verb in the sentence indicates that the bridges were above the ravines; therefore, a ravine would not be something above a high cliff. Choice B is incorrect for the same reason; the verb “spanned” indicates that a ravine is below the bridge. A mountain with sharp peaks would tower above. Choice C is an attractive possibility but with close reading, it is apparent that a ravine does not necessarily have to be a body of water such as a river. Choice D is correct because the word “ravine” means a steep, narrow cut in the earth’s surface.
Performance Data:
The percent of public school students selecting answer choice D for question 41 on the March 2006 Grade 6 Reading Achievement was 40%.

Keywords:  vocabulary, context clues, definition
BACK TO INDEX
	Benchmark:  A
	Use text features and graphics to organize, analyze and draw inferences from content and to gain additional information.

	GLI:               IT 6.5
	Analyze information found in maps, charts, tables, graphs, diagrams and cutaways.


Multiple Choice Question:

42. Where was the Inca empire located?

A. south of Brazil

B. east of Argentina

C. east of the Pacific Ocean

D. north of the Atlantic Ocean.
Commentary:
This multiple-choice question asks students to use a graphic (a map) to gain information about the location of the Inca empire. The student must be able to read a map and understand how to apply directional words such as north, south, east and west. Choice A is incorrect because Brazil is east of the Inca empire. Choice B is incorrect because Argentina is east of the Inca empire. Choice C is correct because the map shows that the Inca empire was east of the Pacific Ocean. Choice D is incorrect because the Atlantic Ocean is north of the Inca Empire.
Performance Data:
The percent of public school students selecting answer choice C for question 42 on the March 2006 Grade 6 Reading Achievement was 63%.

Keywords:  graphic, informational aid

BACK TO INDEX
	Benchmark:  C
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:                  RP 6.6 
	Answer literal, inferential, evaluative and synthesizing questions to demonstrate comprehension of grade-appropriate print texts, electronic and visual media.


Multiple Choice Question:

43. According to the author, what was one of the Inca government’s main priorities?

A. to provide equal opportunities for everyone in the social pyramid

B. to make sure everyone had adequate food and clean housing

C. to keep priests as comfortable and happy as possible

D. to collect taxes from the wealthiest citizens
Commentary:
This multiple-choice question asks students to demonstrate comprehension by responding to a text-based question. The correct response is information that can be found explicitly stated in the text. Choice A is incorrect because it cannot be substantiated by any information in the selection. Choice B is correct because the author states that Inca rulers made sure that everyone had enough to eat and that the houses were inspected for cleanliness. Choice C is incorrect because it cannot be substantiated by any information in the selection. Choice D is incorrect because it cannot be substantiated by any information in the selection.
Performance Data:
The percent of public school students selecting answer choice B for question 43 on the March 2006 Grade 6 Reading Achievement was 59%.

Keywords:  literal question, text-based question

BACK TO INDEX
Passage:

The “French 500”

1
They departed France in February 1790, laden with their elegant clothing, china, books, and musical instruments. Although they left behind family and friends, they were eager to begin a new life in their adopted homeland.

2
Their gaiety was short-lived. One of their five ships was lost during the journey. Accommodations on the ships were cramped and dirty, and the food was inferior. Rough seas tossed the small vessels, testing the courage of the passengers. What a happy day it was when the weary travelers docked in Virginia.

3
But once again their joy was short-lived. In Virginia, they learned the truth about the Scioto Company. It had never owned the land on the Ohio River. They had been cheated. Their deeds
[image: image2.wmf]1

 were worthless, and they were homeless.

4
As strangers, they did not know where to turn. They enlisted the support of President Washington. He gave his written assurance of assistance, but a deed to the land could not be transferred. The land belonged to The Ohio Company.

5
The Ohio Company wanted settlers in its territory and said it would allow the emigrants to settle along the Ohio River anyway. But many of the disillusioned French decided to stay in Virginia. Only five hundred determined pioneers ventured forth on the last leg of their exhausting journey.

6
They traveled over the mountains to the small frontier town of Pittsburgh. There they loaded their possessions and supplies onto flatboats and floated down the Ohio.

7
On October 17, 1790, the “French 500” landed at Gallipolis (City of the Gauls).
[image: image3.wmf]2

 In reality, the “city” was a rectangular clearing in the forest with eighty tiny cabins and a small stockade.
[image: image4.wmf]3

 This sight might have disheartened weaker individuals, but these emigrants, from the lavish home and elite society of Paris, viewed the sparse, rugged accommodations with determination and resolve.

8
They were home at last and prepared to celebrate. They unpacked musical instruments, rouge,
[image: image5.wmf]4

 curling irons, and satin slippers. That night, they held the first French ball in the Northwest Territory. Their love for music and socializing would help to see them through the rough days ahead.

9
Their first winter was long and cold, but spring finally arrived. To survive in this foreign land, they had to learn to provide for their needs. They needed more than flower and herb gardens; they had to plant crops. Some frontier families found humor in the French efforts to plant peeled potatoes and to use cooked peas for seed. But with the help of others, they reaped their first meager harvest.

10
It was also during that first spring that, to their delight, they discovered a nearby pond. It was filled with frogs. In short order, fried frog legs became a delicacy. An abundance of snails was used to flavor soups and stews.

11
The “French 500” learned to cultivate crops, fell trees, and hunt for food. They discovered that their artisan and professional skills were unique in the developing territory. They shipped woodwork, silverware, thermometers, and confections downriver to New Orleans.

12
Still, their homes did not belong to them. The Ohio Company refused to give the settlers the town. They would have to buy their home sites a second time. Those who did not want to repurchase their homes in Gallipolis received land in northeastern Scioto County through the French Grant passed by Congress in 1795. Most of the residents of Gallipolis, preferring not to move again, pooled their money and bought the town on December 9, 1795. Gallipolis, the third oldest permanent settlement in Ohio, was now truly the “City of the Gauls.”

BACK TO INDEX
	Benchmark:  C
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:                  RP 6.6 
	Answer literal, inferential, evaluative and synthesizing questions to demonstrate comprehension of grade-appropriate print texts, electronic and visual media.


Multiple Choice Question:

35. How did the French emigrants feel when they began their journey to the United States?

A. grateful

B. excited

C. fearful

D. sad

Commentary:

This multiple-choice question asks students to show they understand what they read by answering different kinds of questions. Literal questions ask students about facts, ideas or details that are stated directly in the selection. If a student chooses A, he or she may not know how to locate the correct detail. The question asks students to determine how the settlers felt when they began their journey, not how they felt after they had survived several winters. B is the correct answer. In the first paragraph, the author says that the French emigrants were at first “eager to begin a new life in their adopted homeland.” This makes it clear that the emigrants were looking forward to this new part of their lives. If a student chooses C, he or she may not know how to locate the correct detail. It makes sense to think that emigrants who are moving to a new country might be fearful (nervous and afraid) about what will happen to them when moving to a new country. However, this idea is not found in the selection. The author describes the settlers as eager instead of fearful. If a student chooses D, he or she may not know how to locate the correct detail. The author describes the settlers as eager instead of sad.
Performance Data:
The percent of public school students selecting answer choice B for question 35 on the May 2007 Grade 6 Reading Achievement was 59%.

Keywords:   literal question

BACK TO INDEX
	Benchmark:  IT-B
	Recognize the difference between cause and effect and fact and opinion to analyze text.

	GLI:              IT 6.2
	Analyze examples of cause and effect and fact and opinion.


Short Answer Question:

36. Describe the problem that the French emigrants faced immediately upon landing in Virginia.


Then explain one way they dealt with that problem.

Commentary:
This short-answer question asks students to show that they understand what they read by answering different kinds of questions. Literal questions ask students about facts, ideas or details that are stated directly in the selection.

Scoring Guidelines

	Exemplar Response:



	Other Correct Response(s):



	Points
	Student Response

	2 point
	Points awarded for a complete and accurate statement.

Response includes following correct problem: The French emigrants learned that the Scioto Company never owned the land they bought in Ohio and that they had been cheated. 
- AND – the following correct actions: 


• The French emigrants appealed to President George Washington for assistance, but he could not really help. 

• So they just settled along the Ohio River anyway. 

• Some settlers eventually moved away, and the others bought Gallipolis from the Ohio Company.


	1 point


	Point awarded for a partially complete or somewhat inaccurate statement.

Response includes the correct problem listed above, with an incorrect or missing action. 

NOTE: No point will be awarded for the correct action if the problem upon which it is based is incorrect or missing. 

	0 point


	No point awarded if a statement is non-existent or completely inaccurate.

Response does not contain the correct problem listed above, is incomplete, irrelevant or blank.

NOTE: No point will be awarded for the correct action if the problem upon which it is based is incorrect or missing.


Performance Data:
The percent of public school students earning each score point for question 36 on the May 2007 Grade 6 Reading Achievement:

	Percent at Each Score Point

	0
	
	1
	
	2

	41%
	
	32%
	
	27%


Keywords:  literal question

BACK TO INDEX
	Benchmark:  A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:                  AV 6.1
	Define the meaning of unknown words by using context clues and the author’s use of definition, restatement and example.


Multiple Choice Question:

37. “Most of the residents of Gallipolis, preferring not to move again, pooled their money and bought the town on December 9, 1795.”

What does the word pooled mean in the sentence above?
A. combined

B. borrowed 

C. counted 

D. wasted

Commentary:

This multiple-choice question asks students to use context clues, or the words and sentences around words, to define a word they may not know. Authors often give clues to help readers figure out the meaning of words that they do not know. A is the correct answer. The word “pooled” means to put all together. In the context of this sentence, it is clear that the residents of Gallipolis brought all of their money together to make one large amount of money to buy their town from the Ohio Company. If a student chooses B, he or she might think that the residents had to get the money from somewhere else to have enough money to buy the town. However, it is clear from the wording of the sentence that the residents put all of their own money together to buy the town. A student who does not know how to use context clues may not realize that “their money” is the clue to understanding the word “pooled.” If a student chooses C, he or she may not know how to use context clues to determine the meaning of a word that he or she does not know. The student might think that the residents had to count their money before buying the town, because it is common for people to count their money; however, just counting money would not be enough to buy a town. “Counted” is not a definition of the word “pooled.” “Pool” in this sentence means to put all together. A student needs to use the context clues “most of the residents” and “their money and bought” to understand “pooled.” If a student chooses D, he or she might think that the residents who bought the town were wasting their money because some people left the town when the Ohio Company put the town up for sale. However, “wasted” is not a correct definition of the word “pooled,” which means to put all together. Buying a town would not mean a waste of money.
Performance Data:
The percent of public school students selecting answer choice A for question 37 on the May 2007 Grade 6 Reading Achievement was 80%.

Keywords:  context clues, vocabulary, word meaning

BACK TO INDEX
	Benchmark:  D
	Identify arguments and persuasive techniques used in informational text.

	GLI:                    IT 6.7
	Identify and understand an author’s purpose for writing, including to explain, entertain, persuade or inform.


Multiple Choice Question:

38.  What was the author’s main purpose in this selection?
A. to describe the hardships faced by early pioneers in the United States 

B. to tell readers about one group of French emigrants who settled in Ohio 

C. to explain how modern cities and towns in Ohio were first founded

D. to contrast French settlers in the United States with settlers from other countries

Commentary:

This multiple-choice question asks students to understand an author’s purpose for writing. Authors have many reasons for writing: to entertain a reader, to inform a reader of something, to explain an idea with which the reader is not familiar, to persuade a reader to do something, or to convince a reader of something. Understanding why an author decided to write a text selection helps a reader understand what the text means. If a student chooses A, he or she may not know how to read a selection closely to determine the author’s purpose for writing. This explanation is too broad. The selection is about a group of early pioneers in the United States, but it focuses on the French 500 and their settlement in the area of Ohio. B is the correct answer. The author’s purpose for writing this selection about the “French 500” is to tell the story of how a brave group of French emigrants settled along the Ohio frontier. If a student chooses C, he or she may not know how to read a selection closely to determine the author’s purpose for writing. Although the selection does discuss the founding of a city in Ohio, the main focus is on describing the emigrants as a group, not on explaining how cities in Ohio were founded. If a student chooses D, he or she may not know how to read a selection closely to determine the author’s purpose for writing. This explanation is inaccurate because there is no information that compares the French settlers with settlers from other countries.
Performance Data:
The percent of public school students selecting answer choice B for question 38 on the May 2007 Grade 6 Reading Achievement was 49%.

Keywords:  author’s purpose, informational text

BACK TO INDEX
	Benchmark: RP-C
	Make meaning through asking, and responding to a variety of questions related to text.

	GLI:                  RP 6.6 
	Answer literal, inferential, evaluative and synthesizing questions to demonstrate comprehension of grade-appropriate print texts, electronic and visual media.


Extended Response Question:

39. In some ways, the French emigrants had to adapt to life in the United States. In other ways, they brought change to their new home. Provide two examples of how they adapted and two examples of how they brought change. 

Commentary:

This extended-response question asks students to understand cause and effect relationships – the way one event happens because of another event. Many informational texts (texts that present or give facts) have cause and effect relationships in them. 

Scoring Guidelines:
	Exemplar Response:



	Other Correct Response(s):



	Points
	Student Response

	4 point
	Points awarded for a complete and accurate statement.

Response includes two of the following correct adaptations of the French emigrants:


• had to find a different way to obtain their homes on the Ohio River when they learned they had been cheated by the Scioto Company

• had to adapt to rugged accommodations that were very different from their homes back in Paris

• learned how to take care of themselves

• learned how to plant crops

• learned how to cut trees

• learned how to hunt

- AND - two of the following correct changes they made:


• held “the first French ball in the Northwest Territory”

• ate frog legs and snails and used them in cooking

• used their artisan and professional skills to create new products

• “They shipped woodwork, silverware, thermometers, and confections downriver to New Orleans.”

	3 point

	Points awarded for a mostly complete and largely accurate statement.

Response includes two of the correct adaptations listed above
- AND – one of the correct changes they made, with an incorrect or missing change they made.

- OR – 

Response includes one of the correct adaptations listed above, with an incorrect or missing adaptation
- AND – two of the correct changes they made listed above.

	2 point

	Points awarded for a partially complete and somewhat inaccurate statement.

Response includes two of the correct adaptations listed above, with two incorrect or missing changes they made.

- OR – 

Response includes one of the correct adaptations listed above, with an incorrect or missing adaptation
- AND – one of the correct changes they made, with an incorrect or missing change they made.

- OR – 

Response includes two incorrect or missing adaptations
- AND – two of the correct changes they made listed above.

	1 point

	Point awarded for a largely incomplete and mostly inaccurate statement.

Response includes one of the correct adaptations listed above, with an incorrect or missing adaptation and two incorrect or missing changes they made.

- OR – 

Response includes two incorrect or missing adaptations
- AND – one of the correct changes they made listed above, with an incorrect or missing change they made.

	0 point

	No point awarded if a statement is non-existent or completely inaccurate.

Response contains neither one of the correct adaptations nor one of the correct changes they made listed above, is incomplete, irrelevant or blank.


Performance Data:
The percent of public school students earning each score point for question 39 on the May 2007 Grade 6 Reading Achievement:

	Percent at Each Score Point

	0
	
	1
	
	2
	
	3
	
	4

	39%
	
	18%
	
	21%
	
	16%
	
	6%


Keywords:  cause and effect

BACK TO INDEX
	Benchmark:  F
	Determine the extent to which a summary accurately reflects the main idea, critical details and underlying meaning of original text.

	GLI:                      IT 6.4
	Compare original text to a summary to determine the extent to which the summary adequately reflects the main ideas and critical details of the original text.


Multiple Choice Question:

40. Read the following incomplete summary of how the French settlers spent their first few years at Gallipolis.


The French settlers spent their first winter in small cabins. In the spring, they 
learned to cultivate crops, fell trees and hunt for food. 


Which detail is the most important to include in the summary?

A. The French settlers amused the surrounding frontier families. 

B. The French settlers enjoyed eating the frogs and snails that they found.

C. The French settlers wanted to plant flower and herb gardens in their new homes.

D. The French settlers used their unique skills to produce goods and ship them to New Orleans.

Commentary:

This multiple-choice question asks students to understand and be able to identify which details within a text are important enough to be part of a summary. If a student chooses A, he or she may not know how to determine which details are important enough to be part of a summary. When the author writes in paragraph 9 that “[s]ome frontier families found humor in the French efforts to plant peeled potatoes and to use cooked peas for seed,” this is a minor detail from the selection that would not be important enough to put in a summary. If a student chooses B, he or she may not know how to determine which details are important enough to be part of a summary. The author does write that the French settlers ate the frogs in the pond nearby and used snails they found as flavoring in cooking, but these are minor details about how the emigrants changed to survive their new lives, and not important enough to include in a summary. If a student chooses C, he or she may not know how to determine which details are important enough to be part of a summary. The author says that the French emigrants planted flower and herb gardens instead of vegetable gardens to show that these emigrants were not very experienced with farming, but this information is a minor detail from the selection and not important enough to use in a summary. D is the correct answer. In paragraph 11, the author says that even though the settlers had hard times during their first year, they “discovered that their artisan and professional skills were unique in the developing territory.” This means that the settlers were able to make it through their first year by using their artistic and professional skills to create and sell things they made that could not be found anywhere else in Gallipolis.
Performance Data:
The percent of public school students selecting answer choice D for question 40 on the May 2007 Grade 6 Reading Achievement was 55%.

Keywords:  summary

BACK TO INDEX
	Benchmark:  B
	Recognize the difference between cause and effect and fact and opinion to analyze text.

	GLI:                IT 4.7
	Distinguish fact from opinion.


Multiple Choice Question:

41. Which sentence from the selection states an opinion?

A. “One of their five ships was lost during the journey.” 

B. “What a happy day it was when the weary travelers docked in Virginia.”

C. “He gave his written assurance of assistance, but a deed to the land could not be transferred.” 

D. “They traveled over the mountains to the small frontier town of Pittsburgh.”

Commentary:

This multiple-choice question asks students to understand the difference between fact and opinion. A fact is a piece of information that can be proved to be true. An opinion is a view someone believes to be true based on personal judgment and is not supported by fact; it is only what the person thinks is true. If a student chooses A, he or she may not understand that this sentence from paragraph 2 is a true statement or fact. A fact is a statement that can be proved. An opinion, however, is a view someone holds to be true based on personal judgment. It is a fact, not an opinion, that one of the ships was lost during the journey. B is the correct answer. The author tells the story of the “French 500” through a list of facts with opinions that have been added by the author to make the story more interesting. The author has no way of actually knowing how the emigrants felt when they arrived in Virginia. The author guesses about how they might have felt in order to get the reader interested in the story. If a student chooses C, he or she may not understand that this sentence from paragraph 4 is a true statement or fact. A fact is a statement that can be proved. An opinion, however, is a view someone holds to be true based on personal judgment. This is a fact, not an opinion, based on the land laws in the United States at the time. If a student chooses D, he or she may not understand that this sentence from paragraph 4 is a true statement or fact. A fact is a statement that can be proved. An opinion, however, is a view someone holds to be true based on personal judgment. This sentence is a fact, not an opinion, about the road that the French emigrants took through the mountains of Pennsylvania to get to Ohio.
Performance Data:
The percent of public school students selecting answer choice B for question 41 on the May 2007 Grade 6 Reading Achievement was 79%.

Keywords:   fact and opinion

BACK TO INDEX
	Benchmark:  D
	Identify arguments and persuasive techniques used in informational text.

	GLI:                   IT 6.6
	Identify an author's argument or viewpoint and assess the adequacy and accuracy of details used.


Multiple Choice Question:

42. Which sentence most clearly indicates the author’s view of the French emigrants?

A. “The Ohio Company wanted settlers in its territory and said it would allow the emigrants to settle along the Ohio River anyway.”

B. “... these emigrants, from the lavish homes and elite society of Paris, viewed the sparse, rugged accommodations with determination and resolve.”

C. “Some frontier families found humor in the French efforts to plant peeled potatoes and to use cooked peas for seed.”

D. “Those who did not want to repurchase their homes in Gallipolis received land in northeastern Scioto County....”

Commentary: 

This multiple-choice question asks students to look and study how authors develop their point of view. Students look at the ideas that authors write about. They think about how these ideas show the author’s opinion or point of view. If a student chooses A, he or she may not understand the difference between an idea presented in the selection and the author’s point of view. The idea that the Ohio Company offered the emigrants land along the Ohio River is found in paragraph 5, but it does not offer any information about the emigrants that supports the author’s point of view about them. B is the correct answer. Throughout the selection, the author tells the story of the “French 500” to show how a group of French emigrants survived even when they did not know anything about farming on the frontier. The statement in paragraph 7, “... these emigrants, from the lavish homes and elite society of Paris, viewed the sparse, rugged accommodations with determination and resolve,” is one expression of the author’s point of view about the French emigrants. It is the opinion of the author that the emigrants were determined and had strong resolve. If a student chooses C, he or she may not understand the difference between an idea presented in the selection and the author’s point of view. This detail gives the reader an idea of how much the French emigrants, who did not know about simple things such 
as planting potatoes and other vegetables, had to change in order to survive on the frontier. The author, however, does not offer an opinion or point of view in this detail. If a student chooses D, he or she may not understand the difference between an idea presented in the selection and the author’s point of view. The author includes this statement in the selection to emphasize the kinds of compromises the settlers had to make. The statement does not, however, offer an opinion or point of view.
Performance Data:
The percent of public school students selecting answer choice B for question 42 on the May 2007 Grade 6 Reading Achievement was 46%.

Keywords:  author’s point of view, persuasive techniques

BACK TO INDEX
	Benchmark:  B
	Infer word meaning through identification and analysis of analogies and other word relationships.

	GLI:                  AV 6.3
	Identify analogies and other word relationships, including synonyms and antonyms, to determine the meaning of words.


Multiple Choice Question:

43. “An abundance of snails was used to flavor soups and stews.”


Which word is a synonym for abundance in the sentence above?

A. plentifulness

B. shipment

C. harvest

D. variety

Commentary:

This multiple-choice question asks students to understand that familiar words can have different meanings depending on how they are used in a sentence. One way to figure out the meaning of an unfamiliar word is to think of other words that might have the same meaning. A is the correct answer. In this sentence, the author shows how the French ended up finding a large supply of things that helped them survive, including eating frogs and snails. If a student chooses B, he or she may not know how to identify or determine the meaning of a word by replacing it with a synonym. The next paragraph states that the French shipped items to New Orleans, but “shipment” is not a synonym for “abundance.” If a student chooses C, he or she may not know how to identify or determine the meaning of a word by replacing it with a synonym. The word “harvest” might make sense in the sentence, but it is not a synonym for the word “abundance.” If a student chooses D, he or she may not know how to identify or determine the meaning of a word by replacing it with a synonym. The word “variety” has to do with different types while the word “abundance” has to do with quantity. The pond was filled with large numbers, not different kinds, of frogs and snails because it was undiscovered or untouched.
Performance Data:
The percent of public school students selecting answer choice A for question 43 on the May 2007 Grade 6 Reading Achievement was 48%.

Keywords:  synonyms, vocabulary, word meaning

BACK TO INDEX
Passage:
Food for Thought
Elizabeth Winchester

1 School gardens, a growing trend, teach kids to take better care of themselves and the planet.
2 It’s science class for some eighth graders at Martin Luther King Jr. Middle School in Berkeley, California. But the students aren’t sitting at their desks. Instead, they are harvesting fava beans and planting corn in their school’s one-acre garden. Everything in the garden—from broccoli and carrots to strawberries and oranges—is grown organically, without the use of harmful chemicals.
3 King students have been digging into learning this way since 1997. That’s when Alice Waters, a famous chef, started a program called the Edible Schoolyard at their school. Teachers and kids incorporate the organic garden into many lessons. In math class, they measure vegetable beds; in art, they draw the wonders of nature, and garden ingredients create cultural feasts for social studies lessons. While they learn, the kids develop a taste for healthful eating.

The Seeds of Learning
4 North Country School in Lake Placid, New York, is another school with deep roots in garden-based learning. For almost 75 years, lessons at the boarding school have been connected to raising livestock and tending gardens. Kids participate in “complete cycles of food production, from planting and harvesting to preparing and eating,” says John Culpepper, the school’s farm manager. Much of the food served at North Country is homegrown, even the maple syrup. “Knowing you helped produce it makes it [taste] so much better,” says Anthony Edwards, 12.
5 According to the National Gardening Association, about 25,000 schools in the United States involve students in gardening, and the numbers are growing like weeds! “School gardens are useful tools in improving children’s nutrition and environmental awareness and [providing] a sense of peace in our fast-paced world,” says Eve Pranis, the association’s director of educational media.
6 Waters hopes that more schools will follow the example set by King Middle School. She wants all 17 schools in its district to have similar garden programs. Waters’s goal is to turn lunch into an academic subject.
BACK TO INDEX
	Benchmark: RP-C
	Make meaning through asking, and responding to a variety of questions related to text.

	GLI:                  RP 6.4
	Summarize the information in texts, recognizing important ideas and supporting details, and noting gaps or contradictions.


Multiple Choice Question:

10. Which question is answered by information in the selection?

A. What can a school do if it wants to begin a gardening program?

B. Which states have the most schools with gardening programs?

C. Why should a school adopt a gardening program?

D. Where are the best organic gardening programs?

Commentary:
This multiple-choice question asks students to determine which question the information in the selection answers. The student is required to make meaning by reading and comprehending the information presented in the selection. If a student chooses A, he or she has not comprehended the information in the selection which does not tell what a school can do if it wants to begin a gardening program. If a student chooses B, he or she has not comprehended the information in the selection which does not tell which states have the most schools with gardening programs. C is the correct response. The selection indicates that “school gardens are useful tools in improving children’s nutritional and environmental awareness and [providing] a sense of peace in our fact-paced world.” If a student chooses D, he or she has not comprehended the information in the selection which does not tell where the best organic gardening programs are. 
Performance Data:
The percent of public school students selecting answer choice C for question 10 on the May 2008 Grade 6 Reading Achievement was 60%.

Keywords:  comprehension of text, literal question
BACK TO INDEX
	Benchmark:    B 
	Infer word meaning through identification and analysis of analogies and other word relationships.

	GLI:                  AV 6.4
	Interpret metaphors and similes to understand new uses of words and phrases in text.


Short Answer Question:

11. “According to the National Gardening Association, about 25,000 schools in the United 
States involve students in gardening, and the numbers are growing like weeds!”

Identify the simile in the sentence above and explain what it compares.

Write your answer in the Answer Document. (2 points)

Commentary:
This short-answer question asks students to infer meaning through the identification and analysis of the simile “the numbers are growing like weeds.” Some possible answers that are supported by details in the selection are:

Identification of the simile:


the numbers are growing like weeds
Explanation of simile:

the number of schools incorporating garden-based learning into the curriculum is 
increasing quickly and popping up all over is being compared to the ways weeds pop up 
everywhere and grow quickly
Scoring Guidelines:
	Exemplar Response:

NA

	Other Correct Response(s):

NA

	Points
	Student Response

	2 point text
	Points awarded for a complete and accurate statement.

Response correctly identifies the simile: 


• the numbers are growing like weeds


AND

Response explains what the comparison means:


• the number of schools incorporating garden-based learning into the curriculum is increasing quickly and popping up all over is being compared to the ways weeds pop up everywhere and grow quickly

	1 point text


	Point awarded for a partially complete or somewhat inaccurate statement.

Response correctly identifies the simile without providing the meaning of the comparison -OR- response explains what the comparison means without identifying simile.  
 

	
	1 point sample answer:

NA

	0 point text


	No point awarded if a statement is non-existent or completely inaccurate.

Response does not contain the correct answer listed above, is incomplete, irrelevant or blank. The response shows no understanding of the task. 

	
	0 point sample answer:

NA


Performance Data:
The percent of public school students earning each score point for question 11 on the May 2008 Grade 6 Reading Achievement:
	Percent at Each Score Point

	0
	
	1
	
	2

	22%
	
	58%
	
	18%


Keywords:  simile, vocabulary
BACK TO INDEX
	Benchmark:     IT-E 
	Explain the treatment, scope and organization of ideas from different texts to draw conclusions about a topic.

	GLI:                  IT 6.8
	Summarize information from informational text, identifying the treatment, scope and organization of ideas.


Multiple Choice Question:

12. Summary
Working in school gardens is an effective way for students to learn about the environment and practice healthier eating. At least 25,000 schools involve students in gardening. 

What information should be added to complete the summary above?
A. School gardens are a growing trend.

B. Alice Waters is a famous chef in Berkeley, California.

C. Organic gardening is gardening without harmful chemicals.

D. Teachers use the garden as a way to teach math, social studies and art.

Commentary:
This question asks students to determine the extent to which a summary accurately reflects the

main idea, critical details and underlying meaning of the original text. If a student chooses A, he or she did not comprehend the summary because this idea is already reflected in the summary. If a student chooses B, he or she does not understand the difference between a detail and a summary. This idea is a detail and does not need to be included in a summary. If a student chooses C, he or she does not understand the difference between a detail and a summary. This idea is a detail and does not need to be included in a summary. D is the correct response. The summary includes the environmental and nutritional advantages of the school gardening program, but does not include the academic value of the program. 
Performance Data:
The percent of public school students selecting answer choice D for question 12 on the May 2008 Grade 6 Reading Achievement was 60%.

Keywords:  summary, detail
BACK TO INDEX
	Benchmark:  A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:                  AV 6.1
	Define the meaning of unknown words by using context clues and the author’s use of definition, restatement and example.


Multiple Choice Question:

13. Teachers and kids incorporate the organic garden into many lessons. In math class, they measure vegetable beds; in art, they draw the wonders of nature ....”

What is the meaning of incorporate as it is used in the first sentence above?

A. contribute

B. organize

C. include

D. absorb

Commentary:
This question asks students to use context clues to determine the meaning of the vocabulary word incorporate. If a student chooses A, he or she has not understood the context clues which help identify the meaning of the word. If a student chooses B, he or she has not understood the context clues which help identify the meaning of the word. C is the correct response. The ideas following the vocabulary word indicate that math class includes measuring vegetable beds and art class includes drawing pictures of the wonders of nature. These ideas help the student understand that the word incorporate means to include. If a student chooses D, he or she has not understood the context clues which help identify the meaning of the word.
Performance Data:
The percent of public school students selecting answer choice C for question 13 on the May 2008 Grade 6 Reading Achievement was 61 %.

Keywords:  context clues, vocabulary
BACK TO INDEX
	Benchmark:  A
	Use text features and graphics to organize analyze and draw inferences from content and to gain additional information.

	GLI:                IT 6.1
	Use text features, such as chapter titles, headings and subheading; parts of books, including index, appendix, table of contents and online tools (search engines) to locate information.


Multiple Choice Question:

14. If a school principal is interested in creating a school garden for her or his school, which source would provide information about how to begin the project?
A. a list of grocery stores that sell organic food

B. the National Gardening Association website

C. a book that explains how to teach social studies lessons 

D. the directions on the back of a seed packet

Commentary:
This question asks students to use text features and graphics to organize, analyze and draw inferences from content and to gain additional information. The student is asked to determine which source of information would provide additional information about how to begin a garden project. If a student chooses A, he or she has misinterpreted the question. Although the selection does mention organic food, this source would not necessarily provide information on how to begin the project of a school garden. B is the correct response. This source would likely include information on how to begin a garden project. If a student chooses C, he or she has misinterpreted the question. A book about teaching social studies does not relate to how to start a garden project. If a student chooses D, he or she does not understand that the question asks for information on how to begin a garden project. The directions on the back of a seed packet would give directions on how to plant the seeds but not how to start the garden project.
Performance Data:
The percent of public school students selecting answer choice B for question 14 on the May 2008 Grade 6 Reading Achievement was 85 %.

Keywords:  draw inferences, gain additional information
BACK TO INDEX
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